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QUESTION 1
Your company asks you to increase restore speeds. What should you do?

A. Upgrade existing LTO3 drives to LTOS5 drives to take advantage of faster read/write speeds and larger tape cartridge
sizes.

B. Add a mirrored disk based backup target that can be used for backups that support point-in- time recovery.
C. Attach the existing tape libraries to a backup server with local drives configured with RAID 5.
D. Attach a JBOD drive array to the backup media server to improve the read performance of the backup catalog.

Correct Answer: B

QUESTION 2

A solution architect needs to know how your switches enforce zoning. The enforcement method and identification type
being used in your current FC switches must provide the highest level of security.

Which zoning enforcement should you use?
A. Session-based without hardware support
B. Frame-based and hardware support

C. Software-based with hardware support
D. Frame-based and software enforced

Correct Answer: B

QUESTION 3

Only one of many servers has poor performance within an enterprise SAN. The server administrator has found high disk
timeout values without a decrease in throughput. The server has multiple paths to the storage system but only one path
is active at this time. What should the storage administrator monitor to assist with troubleshooting?

A. Number of errors on the active storage port

B. IOPS on the active storage port

C. MBps on the active storage port

D. Buffer-to-buffer utilization by the active storage port

Correct Answer: A

QUESTION 4
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The CIO would like to segregate management device IP network traffic from server IP network traffic within the data
center to limit potential security threats.

What would be used to accomplish this?
A. IPsec

B. Firewall

C. VLANs

D. PKI

Correct Answer: C

QUESTION 5

Your company does a full backup on Sunday night and incremental backups from Monday through Saturday at
midnight. The full backup requires two tapes and each incremental backup requires one tape. There is a system failure
Wednesday morning.

How many tapes will be used to restore to the most current backup?

Al

B.3

C.4

D.8

Correct Answer: C
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